

Αριθμητικές Παραστάσεις (επανάληψη)

➤ **Αφού κάνετε απαλοιφή παρενθέσεων, υπολογίστε την έκφραση για:**

$$\alpha = -\frac{3}{5}, \quad \beta = \frac{1}{7}, \quad \gamma = 1$$

$$(\alpha - \beta) - (\alpha + \gamma - \beta) - (\beta + \alpha - \gamma) + (-\gamma + \beta) =$$

➤ **Κάντε τις παράξεις:**

$$(-2) + 7(-2) - (-2)(+5) =$$

$$(9-12) : 3 + (-4)(-3) =$$

$$(-7-2) : (-1+4) - (9-5) : (5-3) =$$

$$[6 : (-3)] - [-8 : (-4)] + (-1-2) \cdot (8-9) =$$

$$(-2) (-3+5) - (-8 : 2) (4-6) =$$

$$-8 : (-4 + 3 \cdot 2) - [(-5-4) : (4-1)] =$$